B AW RER

(B3

(HiEmAEES)
SF5EE 2H3A(SMER) H i E R K X & #
B s | Awk| mE | e | 2w | mE | 20 g B s | Ak | wE | em | s | mE | 20|
=igF | 15.0 | 1,080 ~ 324 |10 k| 10k | R& e =ik | 0.1 ~ 216 ~ |01 K Re
Kig
A&
feA& | 5.0 | 1,728 | 1,296 | 864 |10 k| &h | RA
D& RS = [ 0.5 | 2,700 ~ 2,160 | 20 E| #h | BRSE
EXVAITFA | ERE| 01 | 1,890 ~ ~ 1okl A | mRe
AFy7rhES | mH | 01 | 1,404 | 1,296 | ~ |1 k| ®mh &
LEZXAED BIRE| 0.1 | 2,700 ~ ~ ok A | S
RHE
HFF | 15.0 | 864 540 216 |15 k| #h | BESE BRE| 10 | 2,692 7= 1,296 [ 10 k| @mh | RE
=E:3
A=y A
B | 200 | 756 648 432 |10 k| ®h | ®& JREE| 1.0 | 1,944 ~ 1,512 |10 k| ®h | RE
Y
. |3 | Bl | 07 | 2,700 | ~ 1,620 [ 10 R’e
BRE| 0.2 ~ 1,296 ~ 0 k| #®h| BRE ELARX| EilF | 0.7 | 2,160 ~ 1,080 | 5 « ®RE
TV—=R—v
Bl | 0.2 | 4,860 ~ 2,692 | 4 k| 20% | BmESE
W EAER HE [ 0.6 | 1,404 s 648 | 4 k RE
o =i | 05 | 1,404 | 1,188 | 864 |3 k| ®mh | B | EE JedEE | 100 | 2,700 | ~ | 2,160 |2 k| ®h | BR&
REAR | 0.2 | 1,296 ~ 1,080 | 3 k| @h | BA
—_— wiE | 03 | 3,240 | ~ |2592 |3 k| 0% | R&
. EiFF | 0.1 ~ 108 s 1ok
b =i | 01 | 6,480 ~ 3,240 | 5 k| ®h | RE
% | 10 ~ i
. = IR 194 86 01 k
wE | 04 | 1,612 ~ | 1,296 |12 | @n
Tayay—
s oxt = IR 3.0 ~ 36 ~ 01 k
AR 400 | 2,484 | ~ | 1,944 mee| | ® |EM | 013240 ~ ~ |3 k| ®mh | X
S T | B 5k
i) 2,376 ~ 2,160 BRE AyF—= =i | 03 864 ~ 432 | 2 k| #®h | RE
e =R | 0.7 ~ 2,160 ~ 5 k| ®h | RE
3city IR 3,240 | ~ 1,620 0% | BRSE
=g | 11 | 1,188 ~ 540 | 4 & HBRE
r<h =% Bk 1,620 | ~ | 1,296 0% | BRS
IINASE =14 1,404 | ~ | 1,296 o | &8
s=jwh = | 40 | 119 86 76 |02 k| ®h | Re s Hif 1,080 | ~ 648 1R | RE
. a2 . 13.8 | 7,020 ~ 4,320 | 10 « BREE FoT R =1 ~ 1,296 ~ 10K | BE
B—r =
Tk 0k
Re—vr = | 02 | 7,560 ~ |2,160 |10 « Rr& ZF Dt i
FHIAR =i | 44 8100 ~ |3,240 |10 « nEE Bp3E 37.0 t AR | 1775 t




